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QUESTION 1

During Service identification and discovery, which three reasons you would use a business function model? 

A. To identify functional overlap and linkages in the SOA project selection process 

B. To summarize what an enterprise does and the relationship between those functions 

C. Identify the high-level business processes in the organization 

D. Define the organizational structure for the business 

E. Provide a structure for a federated enterprise service bus deployment 

Correct Answer: BDE 

 

QUESTION 2

Services, Service consumer applications, and SOA Infrastructure components are instrumented to report on various
events and conditions within the SOA environment at run time. The types of information they log can vary widely
depending on the types of events in an organization. What are two example of these events? 

A. Business value of the Service 

B. Performance and load characteristics 

C. Service exceptions 

D. Service reuse metrics 

Correct Answer: BC 

 

QUESTION 3

When the SOA roadmap process is described to a customer, the customer balks at the approach because the first step
in the process is a current state analysis. From past experience the customer has seen current state assessments that
took months to complete. The customer is not willing to spend months on another current state assessment. How is this
customer issue addressed by the SOA roadmap development approach? 

A. The scope of the current state assessment is limited to one business unit at a time. This keeps the length of the
assessment to approximately two weeks. 

B. The current state assessment is performed by evaluating the maturity and adoption of capabilities in the SOA
Maturity Model. This narrow focus allows the assessment to be completed in approximately two weeks. 

C. The scope of the current state assessment is restricted to the projects that the Project Selection Framework identified
as the best SOA projects. This limited set of projects can be assessed in approximately two weeks. 

D. The current state assessment is time boxed to two weeks. At the end of the two weeks, thecurrent state assessment
is deemed complete and the next step in the roadmap creation process is begun. 
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E. The current state assessment is done by reviewing documents provided by the customer. Two weeks is sufficient to
review the documents and determine the current state. 

Correct Answer: B 

 

QUESTION 4

One of the goals of your newly formed SOA initiative is for business persons to support business-level service
composition. Which option best supports your goal? 

A. Services must include a formal contract that specifies the functional and non-functional capabilities provided. 

B. Employ a Service naming strategy that details what functionality the Service delivers. 

C. Deploy a Service Repository that classifies Services by the name of the back-end system where the implementation
code resides. 

D. Assign a Business Architect from the SOA COE to support a group of business persons. 

Correct Answer: A 

 

QUESTION 5

Which statement describes the purpose of a Service portfolio? 

A. A Service portfolio provides a single location for storing Service meta-data, software relationships, and metrics in
order to apply governance policies and systemetise reuse. 

B. A Service portfolio provides a singlesoftware library from which artifacts can be deployed and versioned. 

C. A Service portfolio provides a runtime view of the Services so that the right Service may be looked up and consumed
in an environment. 

D. A Service portfolio contains all the software artifacts that will be developed by a project so that project managers can
track their lifecycle through the project. 

Correct Answer: D 
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